CS3/586, Introduction to Databases, Fall 2009
Homework 2 ANSWERS
Note that I give one form of the SQL answer in each case; there are many others.  Also, the order of the answers is arbitrary unless there is an ORDER BY clause.
1. [10] I’m curious if any candidates are related to me.  Give the SQL that will retrieve the full names of all candidates whose last name is SHAPIRO.  Also give the two answers to the query.

ANSWER:  SELECT candname FROM cand WHERE candname LIKE ‘SHAPIRO%’;
candname 

SHAPIRO, LARA                         

SHAPIRO, FLORENCE                     

2. [15] Now I’m curious if any of my maybe-relatives are important enough to have committees that have chosen them as associated candidates.  Give the SQL query that will retrieve the names of all the above candidates and the addresses (street1,city,state) of committees that consider one of them an associated candidate.  Also give the two answers to your query.
ANSWER: SELECT candname, c.street1, c.city, c.state

FROM cand, comm c

WHERE assoccand = candid AND candname LIKE 'SHAPIRO%';
candname

street1




city

state 

SHAPIRO, LARA     2822 H STREET     


 SACRAMENTO  CA 

SHAPIRO, FLORENCE 5700 GRANITE PARKWAY SUITE 900      PLANO       TX
3. [15] (To get a non-trivial answer to this I had to generalize to persons whose names begin with SHA, and focus on Pennsylvania.)   Recall that the pas table records donations from a committee to a candidate.  For each donation from a committee located in Pennsylvania (PA), to a candidate whose last name begins with SHA, list the name of the committee and the amount of the donation.  List the answers in order of the size of the donation.  Give the SQL query and the number of rows in the answer to the query.  

ANSWER: SELECT commname, amount

FROM cand c JOIN pas p ON (c.candid = p.candid) 
     JOIN comm m ON (p.commid = m.commid)

WHERE candname LIKE 'SHA%' AND m.state = 'PA' ORDER BY amount;
9 rows in the answer to the query
Next, I expanded my definition a bit and transformed the last name of our student Daesung Park into Parker to get a hit, which I used for the next question.

4. [20] Are you curious as to how many candidates run for more than one office in the same election?  .  Display the names and IDs of any persons in Oregon who occupy the roles of two different candidates.  Assume that two different candidates are the same person if they have the same name.  Your answer should be as simple as possible.  Give the SQL query and the answer to the query..
SELECT c1.candid, c2.candid, c1.candname

FROM cand c1,cand c2

WHERE c1.candname=c2.candname AND c1.candid < c2.candid AND c1.state = 'OR';

ANSWER

candid

candid

candname 

H6OR01209
S4OR00065
GOBERMAN, PAVEL                       

5. [20] For this query, use the tables candor, commor, indivor and pasor, so you won’t hang up the server.  These tables have the same schema as the other tables but contain only Oregon data.   You are an investigative reporter trying to track down donors who try to get around campaign donation limits, by giving multiple donations to the same committees.  To start with you want a list of pairs of donations by the same donor (meaning, donors with the same name) to the same committee (meaning, committees with the same ID).  You need the name of the donor, the name of the committee, and the fecids of the two donations, in order of the name of the donor.  For now you are interested only in donations both of which are over $4000.  Make your query and your answer complete, but as short as possible.  Give the query and the number of rows in the answer.

ANSWER:     

 SELECT i1.donorname, commname, i1.fecid, i2.fecid, i1.amount,i2.amount

FROM indivor i1, indivor i2 , commor m

WHERE 

i1.fecid < i2.fecid AND

i1.commid = i2.commid AND

i1.commid = m.commid AND

i1.amount > 4000 AND i2.amount > 4000 

i1.donorname = i2.donorname AND

ORDER BY i1.donorname;
Number of rows in the answer: one
[20] The handout says, on the last page, page 8, that there is no dirty data for the last two files, indiv and pas.  Explain what it means to say that there is no dirty data for the foreign key in the indiv file.  Then write the SQL statement that proves this is true.  Execute the SQL statement and describe its result.
ANSWER: The foreign key in the indiv file is commid.  To say there is no dirty data for that key means that each commid value in the indiv file is either NULL or appears in the commid column in the comm file.  Here is the SQL statement that proves this is true:

SELECT i.commid

FROM indiv i LEFT OUTER JOIN comm c ON (i.commid = c.commid)

WHERE i.commid IS NOT NULL AND c.commid IS NULL;

The result of executing this statement is the empty set, showing that there are no dangling pointers.


































































